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Plot Sensor and FgRec Data
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Trend plot forP3-7_0
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cumET (ml/plant)



m=390, FV0=0 m=450, FV0=0 m=510, FV0=0

17.0 4

—o— ME —o— me | 2157 —o— ME
16.5 - 19.0 -
21.0
16.0 - 18.5
15.5 - 20.5
18.0
15.0
17.5 4 20.0
14.5 -
14 4 —e— ME 14.0 - 17.0 - 19.5
T T T T T T T T T T T T T T
400 600 800 1000 1200 390 395 400 450 455 460 510 515 520
m=535,m FV0=0 m=675,m FV0=0 m=845,m FV0=0 m=915,m FV0=0
22. 25 - 990
—e— ME : —e— ME | 200 —— ME 21.04 —@— ME
22. 00 -
21.5 19. 5 - 20.5
21.75 -
21.0 19.0 - 20.0
21. 50 -
20. 5 18. 5 - 19.5 4
21. 25 -
19.0 -
20.0 04
21.00 - 18.0
T T T T T T T T T 18.5 - T T T
535 540 545 675 680 685 845 850 855 915 920 925
m=1040m FVO=0 m=1060m FV0=0 m=1160m FV0=0 m
210 —e— mE | 22907 —o— nwe | 2107 —o— ME 19 4 —o— MW
' 21.75 4
20.5 20.5
21. 50 - 11 -
20.0
21. 25 - 20.0
19. 5 10 -
21. 00 -
19.0 - 19.5 -
20. 75 - i
18.5 - 9
20. 50 - 19.0 -
1040 1045 1050 1060 1065 1070 1160 1165 1170 400 600 800 1000 1200
m=390,m FVO=0 m=450,m FV0=0 m=510,m FV0=0 m=535,m FV0=0
8801 oy 9101 o my 9.701 _o 10101 oy
10. 05 +
8.75 9.05 9. 65
10. 00 1
8.70 9.00 9. 60 9.95
9.90
8. 65 8.95 9.55
9.85
8. 60 8.90 9.50 9. 80
390 395 400 450 455 460 510 515 520 535 540 545
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11.

11.

10.

10.

10.
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90

88 ~
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—0—
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T T
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20 A
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10 ~

05 ~

00 -

—0—

M_W
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T
1065

T
1070
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11.

11.

11.

11.

11.
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m=845, FV0=0

80

75 A

70 -

65

60 -

55 -
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—0—

M_w

T
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8%0 8%5
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9.4 -

9.3 4

9.2 4
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9.0 -

—0—

M_W

T
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T T
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82 -
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T
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P3-7

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

06:45 210 150.0 | 1Ri%e06:45 F (REAEREE)
07:25 210 150.0 =] {Ri%e07:25 F (RFATEREE)
08:05 210 150.0 =] {RRi8008:05 Fzh (RFAEEE)
08:45 210 150.0 = {RRiB008:45 Fzh (FRFAEEE)
09:25 210 150.0 =] {Ri%@09:25 F (RFAERE)
10:05 210 150.0 5| {Ri1&@10:05 Fzh (REAERSE)
11:00 210 150.0 =l {Rige11:00 F31 (RAERSE)
11:45 210 150.0 | Ri%ei11:45 F5 (GRFAERSE)
12:25 210 150.0 =l {Rige12:25 F31 (RAEDSE)
13:05 210 150.0 5| 1RiR@13:05 Fz (KREAEESE)
13:45 210 150.0 5| 1Ri%e13:45 FH (REAEREE)
14:25 210 150.0 =] Ri%e14:25 F51 (REAERRSE)
15:10 210 150.0 F[ BRige15:10 Fz1 CGRAERESE)
16:10 210 150.0 =] BRi%e16:10 F3z (REAERSE)
=3t]2940.0 (14)%) 2100. 0 32803 KEC: 2080.0, PH: 6.5

ERERRTC (210) 5THA (234. 0) A7, WHEHR T % MREERS X XER
ZRIASKPRERL134.0 ml.

REXR i3 Bl RECEIE fh k.

REREBIEC (2870.0) HiZEEC (2000.0) REK K, HHE

RER BT HEREC/PHETR K, FIRERNIIREDRSE



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=30 (2025-04-28)

ET (ml/hr/plant)

150 e ——— ]
VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1841 2000
100 4 1334 - 1500
81 81804l [ 1000
50
- 500
00 Warning: lcol [FVI',| "FVO’'] missing 8 o
0 r0
150 & e g g g g S A B —— ME J30
maxM
- 25
100 + w
=
- 20
50
- 15
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
600 4 Bylnit @D3q 02:48: ET=1444 Fg=1950.0 Ro=187.0 f13ooo
1
1
400 - | - 2000
1
1
200 - | - 1000
i L 11111
1
0 P o | ::]l:::]I/// ]I\\\\\N“‘ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
600 5 | BB | 5 | 5 | BB |5 | G| BB | BE | BB i 5 5 5 i 5 5 5 i 5 5 5 i & [ 3000
1
ByEt @D30 18:43: ET=1893 Fg=1704. 0 Ro=nan 1 _o——o
400 - - 2000
@ @ @
200 ~ - 1000
p———— ©
0 i WSS———— Y et £ I —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
600 5 | BB | 5 | 5 | BB |5 | G| BE | BE | B i 5 5 5 i 5 5 5 i 5 5 5 i & [ 3000
1
ByWoFv @D33 02:48: ET=1841 Fg=2100.0 Ro=50.0
400 - : —8—23 |,
1
1
200 - | - 1000
p—e—0—0—0—0— 90—
1.0 p—m—ap——a la P — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
== HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 HEE ES == E3 ES ES == E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ u
[ ] | _obs
1000 - —@— PPFD obs
500 -
0
44 "% e v ¢

FRV

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=510, FV0=0 m=600, FV0=0 m=660, FVO0=0
21.0 4 22.0 4
29 —&— ME —&— ME —&— ME —&— ME
20. 5 21.5 4
18 4
20 A 20. 0 A 21.0 +
17 1 19.5 4 20.5 A
18
19.0 20. 0
16
16 - 18.5 A 19.5
T T T T T T T T T T T T T T
500 600 700 800 900 510 515 520 600 605 610 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m
99 5 22.5
92 0 4 - ME ) —-0— ME - ME 14.04 —@— MW
22 0 A 22.0
21.5 4 13.5
21.5 - 21.5 7
21.0 A 13.0 A
21.0 21.0
20. 5
12.5 A
20. 5 20. 5
20. 0
12.0 -
T T T 20 0 - T T T 20 0 T T T T T T T
720 725 730 780 785 790 840 845 850 500 600 700 800 9
m=510,m FV0=0 m=600,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
12. 20 o MW 12.50 - o MW 13. 00 13. 70 A o MW
12.98
12.15 12. 45 13. 65
12. 96
12.10 12. 40 - 13. 60 -
12.94
12.05 12. 35 13. 55
12.92
12.00 12. 30 A 12.90 MW 13. 50
510 515 520 600 605 610 660 665 670 720 725 730
m:780m1FVO:0 m:840m1FVO:0 m m
13. 90 14.10
13. 88 14. 08
13. 86 - 14. 06 -
13. 84 14. 04
13. 82 14.02
13. 80 14. 00

785 790

840

845 850
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P3-7

BfiE) | GEBATK (FY) | EHE (EARA/K) (XS SRR

01:40 210 130.0 (ZZ=| {Ri&e01:40 Fz (RAMERESE)
02:30 210 130.0 & 1RiRe02:30 Fz (KREERE)
06:45 210 130.0 E 1BRi&e06:45 Fz (RAEREE)
07:25 210 130.0 5| {Ri%@07:25 Fh (FAERSE)
08:05 210 130.0 E[ 1BRi&@08:05 Fzh (RAEREE)
09:05 210 130.0 5| {Ri%@09:05 F3h (KRAERSE)
10:05 210 130.0 5 {Ri%@10:05 F3h (FAMERSE)
10:55 210 130.0 = {Ri%@10:55 F3 (RAERSE)
11:35 210 130.0 S {Rige11:35 Fz (RAERSE)
12:10 210 130.0 E| {Rige12:10 Fzh (GREERSE)
12:45 210 130.0 E BRige12:45 Fz1 CGRAERESE)
13:20 210 130.0 S| {Rig013:20 F3 (RAERSE)
14:00 210 130.0 5| {Ri%e14:00 F3h (RAERSE)
14:40 210 130.0 F BRige14:40 Fz1 CGRAERESE)
15:20 210 130.0 | 1RiRe15:20 F3 (KREAERSR)
16:10 210 130.0 E BRige16:10 Fz1 CGRAERESE)
21t 3360.0 (167%) 2080. 0 EWHKEC: 2080.0, PH: 6.5

BE X i# B ECEL B Hh k. ‘
FEREBIEC (2870.0) HiZFEEC (2000.0) REK K, HH/E
BER LI HEREC/PHESLK, FIRERNNBEEIRSR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=29 (2025-04-27)

VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 183¢- 2000
100 4 - 1500
1165
81 g1816f [ 1000
50 A
- 500
00 Warning: lcol [FVI',| "FVO’'] missing 8 0
0 r0
150 § FRV —— ME $30
____________________________________________________________________________ maxM . |
- 25
100 + w
=
- 20
50
15
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
600 4 Bylnit @D3q 02:48: ET=1392 Fg=1800.0 Ro=175.0 4 3000
1
1
400 I -~ o—o—0—8 [ 200
1
1
200 - : - 1000
0 Peap. 0
0 1 2 3 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
6001Z=|[Z=| BB | BB g | BB | BB 5 | B i 5 5 5 i 5 5 5 i 5 5 5 i g [ 3000
1
ByEt @D29 18:42: ET=1805 Fg=1716. 0 Ro=nan 1
400 - : - 2000
1
1
200 - : - 1000
—o—o o —o—o— :
0 — _ 66— —e —6—@ 0
0 1 2 3 5
6001Z% |55 &5 | B 5| B | B - 3000
1
ByWoFv @D33 02:48: ET=1830 Fg=2080.0 Ro=48.0
400 - : - 2000
1
1
200 - : - 1000
ﬂ lo & &
@ e
1.0 —l 0
0 1 2 3 5 6 7 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
NREZAEZA N AN g | BB | BB 5 | B i 5 5 5 i 5 5 5 B | 2| B |Z5|%Za| B
0.6 -
0.4 1
0.2 A
0.0
1500 § _— A
[ ] | _obs
1000 —@— PPFD obs
500 A
60
40_ RH
[ ] RH_obs
20 4 @ RHo_obs

—~
—

£

FRV

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



22 A

21 -

20 A
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M_E

T T T T
600 700 800 900

m=720,m FV0=0

T
500

22.5

22.0 -

21.5 A

21.0 -

20. 5

15.

15.

15.

15.

15.

15.

17.

17.

17.

17.

17.

16.

16.

—&— M_E

T T
720 725 730

30 A

28 -

26 A

24 -

22 A

20 -

m=510,m FV0=0

-o— MW

5%5 550
m=780,n FV0=0

510

20 A

15

10

05 -

00 A

95

90 -

- MW

780 785 790

m=510, FV0=0

19 +

18 +

17 4

——

\}

M_E

5%5 5&0
m=780,n FV0=0

22.5 A

22.0 A

21.5 A

21.0 A

20. 5 A

15.

15.

15.

15.

15.

15.

17.

17.

17.

17.

17.

17.

—o— M_E

i

7é5 7é0
m=600,n FV0=0

50 A

48 -

46 -

44 -

42 -

40 -

—— MW

it

665 6%0
m=840,n FV0=0

600

30

28 -

26

24 -

22 -

20 -

ﬁ

—— MW

840 845 850

m=600, FV0=0

21.5 -

21.0 -

20.

20.

19.

19.

—e— ME

600

605
m=840,n FV0=0

T
610

22.

22.

21.5 A

21.0 -

20.

—o— ME

840
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m=660,n FV0=0

T
850

16. 10

16. 08
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16. 04
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16. 00
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22.

21.

21.

20.

20.

19.

17.

17.

16.

16.

15.

16.

16.

16.
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16.

16.

16.
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—o—

M_E
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660 665
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